ohe % 2A7H HRE o] Holxt

@

17
25

35
60

14
49

)



o] T2 A7 et A& o] AS A2AQ
7} 0.37%x 2.5 7. 15.12 % 0.5
Lt} 2.1x3.6 L. 5.76 x 0.125
t}. 0.4 x 1.8 . 23.125 % 0.04
@D 7k @ 7Lu (©= @ Y- ® -




mA=rs)
ol

gl

@ 7L
c9o 3
7]

® 7
A=t =]
7]

)
o] Yo

180
N

&

A}
1



ol



— =11
-4

@ 4
® 2

- =7
—+3

D 2
@ 7



|

¢

& A9l Ao17F 62m 2 A o1 3 A7} YsiIek of A o] g
g o] Ezto] Lhiro] Aleix k. g Wol ZhAl A o] mi
A

| 7oA 2

Hm <l

1 1 1 1 1



UeAle U7t ool

2] 227k A A

o it

@ 48.08 =8 @ 285+3

@ 1.62=6 B 7288

® 728+ 14






& 5 254 o 02 WHshs Adtel §l=
SHAL.

@ 51+6

B 425+5

VAl

BE AS o=

® 46.4+32

717



10. =% 1 of 71 77k 8 ALEA Q.

1 7 11
1= 1L 1 1.32 1—
® 3 @) 9 ® @ ® E



11. A=z 327171 22 719 vz o2 22 of AJU 7}

(1)% . e (0.625
(2)% ° e O0.75
(3)% . e ©0.24

S ©1)-®02)-003)-
®1-©2-90)-0 @®1)-02)-©0)-
©



0.86

0.56

0.26

1.01

@ @041 © 0.71

D @0.41 © 0.57
® @040 0.72

@ ©0.48 © 0.71

® @0.41 © 0.73



ol

A

o}

b 959 B4 = 159 1.7 Aolo] 9l 7]eFE4-7}

1=}
L

13.



14. 328x14=45924 ©j E& 7S 1249,

D 328 x 1.4 = 459.2 @ 32.8x0.14 = 45.92
@ 328 x 0.14 = 45.92 @ 3.28x1.4=4.592

(® 328 x 14 = 45.92



15. o2 S AL At QET 2 AL BF 1EA L.

O Ox04 @ x1.6 @ 1.02xO
@ 0.1x0O ® 0.085 x A



